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I can recall and use addition and subtraction facts to 20 fluently, and derive and use related facts up to 100
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I can add and subtract numbers using concrete objects, pictorial representations, and mentally
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I can recognise and use the inverse relationship between addition and subtraction
23 + 46 = _____		29 + 37 = _____		67 – 24 = ____		61 – 35 = _____

52 + 44 = _____		45 + 49 = _____		88 – 54 = ____		81 – 56 = _____
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True or False?

These four calculations have the same
answer.

14442 4+2+1

2+4+1 4+1+2
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Can you help Coptain onjgcture odd 3 -digit numbers?
54745 54646
44746 prvee

He soye "an odd rumber-+ an odd rumber + an odd rumber
= an ven number” T tis someimes, weys o never
true? Exploinyour recsorig.
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78 minus 34 =

8ones — 4ones= |

7tens —3tens=

We have| (:tensandi ;ones.
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64+12=
40nes + 2 ones =

Btens +Tten=

tens+  fones=|
Hamza has 41 sweets.

Jemima has 55 sweets.

How many sweets do they havealtogether?
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Find different possibilities.

+[J-%0

s0-[]-
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Emily did the following calculation:
12-8=4
She checked it by using the inverse.

She did 12 + 8 = 20 and said that her
first calculation was wrong.

What advice would you give her?
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Can you use the inverse operation to check 5 + 12 = 172

How many possible inverse calculations are there?
Erin writes this calculation: 18 - 5 = 13

Which of the following could she use to check her work?

13+5 13-5

18-13 5+13
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Jasmine has 33 stickers.
Ollie has 54 stickers.

How many more stickers does Ollie
have?

What method did you use to solve the
problem?
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True or False?

¥ fo—a-e]

then

1 2088
2 Bplan your anser
3 (i00-40-60
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Complete the part whole models below:

() (9
OO  Ow
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Find the missing numbers in the related facts.

5+4=9 8=3+5 4=10-6
50+40:D 80:30+D 40 D 60
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7+ =20 20=3+

15 + =20 20=___+9

10 + 20 20=__+0

What other number bonds to 20 can you identify?





